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X 4 1 & & #H 3 & &
® H ST | R SR G| R B
J5 bkt 22| 139,068 | 39.3 | 417,223 | 46.9
§% % | 59,400 | 16.8 | 180,600 | 20.3
WATfEE | 53,766 | 15.2 | 53,766 6.0
o|7|® T K 16,631 4.6 | 57,020 6.4
t & B 615]| 17| 10,96 1.2
R HEEEME] 2,403 0.7 7,209! 0.8
% B kH 3,080 0.9 3,08 0.3
w|B|ofiger| 5725 16| 14895 1.7
A 3| 286,228 | 80.9 | 744,759 | 83.8
A # #| 12,000] 3.4 | 36,000 4.1
g2 FIR| 34,708 9.8 | 49,955| 5.6
Pl | 88 %] 12,000 3.4 | 36,000| 4.1
B\ x| 8,845 2.5 | 22,223 2.5
B0 s | 67.553] 19.1 | 144,178 ] 16.2
4 & |353,781| 100 |888,937 | 100
B O% F 2| 17,689 44, 447
5t 371, 470 933, 384
A — 7 — ek 77,3000 | 64, 818M A
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98,690 m 82,108
m3
4
12mm
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12mm 2.3 3.0 m
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